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(1) PC=14-x°|B& (14-x)x14=7x(7+5)
196 — 14x = 84
14x = 112
L x=28
(2) PA =12 - x0|E2
(12 -x) x (124 x) = 6 x (6 + 10)
144 — x* = 96
x2 =48
L x=4V3 (x> 0)
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PT° = PAxPB

PT° = PCxPD
PAXxPB=PCxPD o2&
4x(4+8)=6x%(6+x)

48 = 36 + 6x
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PAXxPB=PCxPDO|EZ 8x (8+x) =6x20, x="7
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(x+3)xx=10x4

X2 +3x-40=0
(x+8)(x=5)=0.. x=5cm =
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AD°=AC +CD°
4r2 =754+9
=21

AC, AD 2 1799 AP = 2PC , /APC = 60° °|22 /ACP =
90° (- EZro] A4 =, AD 7T 99 A S0t
AC = V102 - 52 = 5V3(cm) °|22 AACD o] 4]
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- Z/ABT = /PTA = 25°
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AT = V81 + 144 =15
92 = (15— x)-15
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PC = 4x16
PC? =8
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AB2 = BC x BE

64 =4%(4+5+ x)

9+x=16 .. x=T7

20 o WA Aol 1 o 5t
DG=r+2, DF=r-2

DG x DF = DC x DE
(r+2)(r-2)=5x7
r?=35+4=39

~r= V39
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PT° = PA xPB = PC x PD
4x10 = x X bdx

8 = x?

Lx=242
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PT° =PAxPB=3x9=27
~PT=3V3

F3H PT° = PAxPB = PT” o|B&
PT=PT' =3V3

w2tA, PT + PT’ = 6 V3 o]t}
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PT’ =PAxPB = PT/ °|2& PT = PT
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(1) 62 =xx (x+9)

36 = x% + 9x
(x—3)(x+12) =0
Lox=3(rx>0)
V=xx(x+9) =3x(3+9) =236
Soy=6(-x>0)

(2) 82 = xx (x + 12)
64 = x? + 12x
(x-4)(x+16)=0
Sox=4(x>0)

V= 4x(4+12) = 64
S y=8(rx>0)




